SECOND YEAR HIGHER SECONDARY MODEL EXAMINATION
MARCH 2023

ACCOUNTANCY WITH COMPUTERISED ACCOUNTING

Answer any four questions from 1 to 5 .Each carries 1 score.

Which among the following is not an element of reconstitution of partnership
(a) Admission (b) Death (c) change in the profit sharing ratio (d) Dissolution

a188l0m enilmimmile) ajm(&21e:eemOumIod 9UWa/ISIOM ~LiSSo.

Share of glw brough in cash by the new partner is called

(a Premium (b) Capital (c) profit (d) None of these

a0 1818 Nyunklan alanldo ~lMOTISN EJ.IODIOE AR NEYMMIOM al0WIMOY

veerreeere.aNMIEM.

The business of a partnership firm is terminated when take place.
(a) Dissolution of partnership

(b) Retirement of a partner

(c) death of a partner

(d) Dissolution of the firm.

alB)SI0M MNJaiMo BRS| Al)SAMMIGMWIET ...........aH 0T INQIMO).

What journal entry will be passed if Realisation expenses are paid by a

partner on behalf of a firm.

NWHNLKRMAHM A218INRG&U MUMANOTIN Al&r2)0] 86) B8] 665} Mdeniemud

CREUAAISIOMIM C6MAD aDM(S] nPITS:.

Mention the name of account where profit or loss on Realization is

transferred

NWAHRIMIAH GRSODEMREITE QMRISIM ARMAIIe MaASNGo nBO) GREODEMEICLISHIM 2I0IMM.
Answers both the questions No. 6 and 7 each carries 2 score. (2x2=4)

State two difference between fixed and fluctuating capital method.

a0l M SPalNT3 H2ACOMWIe a08&Eal0lol) &Pall)Tl H2CTMALe MALRSS 2 NYMJIMERD
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01903 S.

Explain the order in which amount realized to the sale of assets are to be

applied at the time of dissolution of the Firm.

80} alBISI0N MO~ MUDINN BRS3j~15M M2AQON ERMTIGE nilg atleaim me nilmiew)

1IN (&20 aBamm NileEle:elea)s:.

Answer any two questions from 8 -10. Each carries 3 marks.

Arun a partner in a firm withdrew the following amounts during the year

2020-21.

@EREM 663 Nd-HOIeN nmmm 22mManslod ~ladneils myewiem esaislod mmicleam

0).@REMION 863 Nid-tamm interest on drawings &6 ilskeays.

Date of withdrawal Amount
May 31 2020 5000
July 1 2020 6000
Oct 1 2020 4000
Dec.31 2020 2000
Feb 1 2021 3000

Calculate the amount of interest on drawings to be charged from Arun if the

rate of interest is @ 8% p.a. Books are closed on 31st March every year.

What are the factors affecting goodwill of a firm.

803 n1dBSeMAndlai snilmimmlc wyaunilelam mWIeam ~LISSERUD a@BaMeo ?

Manoj, Remya and Geetha are partners in a firm sharing profit and losses in

3:2:1. Geetha decides to Retire. On the date of Retirement the Balance sheet

of the firm showed the following General Reserve Rs.18000/-
Profit & Loss A/c (Dr.) - Rs.30000/-
Pass necessary Journal entries to adjust the above.

Answer both the questions no.11 and 12 . Each carried 4 score.

26MIA0, R2JWJo,. VMW ~1BISIS:E6M. VO Nile2len)m Mmelamlsjlgien:. nilealesnd Mmool

Wlmd Moaimomlany mMDAIMM ) Rmeed oludal - 18000 G030, AR MaHS EREADETR

(3x2=6)
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12.

13.

30000 B3al@30 &IEMYMY. DN (&2kSEIEHNIMMIMINUBI2IW CREMTE ISk ID WIS

Year 2000 20001 2002 2003
Profits 15000 20000 22500 42500

capital employed 1,50,000. Normal rate of return 10%. Calculate the value of

g/w under capitalisation of super profit method.

6] nNOSEMABnlAl MO2RAIMe SYIUM 4 NiBaHo EMSIW LIEAIEM N&SITI 6&ISJOUIRIea3m
@. MOIMOVIT Micetinilglelenim ajeiwme 150000 RJaIWIEM. MUIWIREM HEBISIM LM
@86 10% ERWOWIS ADROBIAM 2LXMAUMSEEMOTIERHS Mmdsmolang umjcinielamg aiel

& 61NE6)) B6)) 5.

A, B and C are partners sharing profit and losses in the ratio of 4:2:1 . The
firm closes its books on 31st March every year. C died on Ist Oct.2018. His
capital account has opening Balance of Rs.20,000. Prepare C's capital A/c on

the basis of following.

af) @WJo, 6nil WJo, M WJo 421 AN BRMIIDOOMIOCY LIIE MAHSERUD AIBISIM AIBSMO2IR)I
ém. &miml 31 2)09l@ CLIM H21QIM]. M B&ESINE 1 M AREMAAISYIM]. MIWHS &ailEd

GRAODETE OEPINISN)S:.

G/W be valued at 3 years purchase of average profit of 5 years. Average

profits were Rs.16000/-
Revaluation profit Rs. 18000.

Profit for the year 2017-18 taken as have acquired at the same rate as the

previous year which was Rs.50000.

Answer both the questions No.13 and 14.Each carries 5 scores.

Suresh and Rekha are partners. Suresh capital Rs.50000. Rekha's capital is
30,000. Interest on capital is payable 6% p.a. Rekha is entitled to a salary for
Rs.3000 per month. Suresh get a commission of Rs.10000. Profit before

interest salary and commission is Rs.80000. Prepare P & L Appropriation

Alc.

(VIERnHIo CRAIWZ0 nlBIBSS6M. MIERHINNG 23eKMoe 50000, CEANYINS 23RIWMo 30000 @3al
W26M. 23eKMOMION 6% GREM (U3EEHINM Mo 2)Mo 3000 @.IWIEM. CRCIWINS &
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15.
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16.

oMM 10000/- @IWIEM. GMBNJe ~ltillRWIe, SDAHMIe OSISFENMTIN MRS L1Ro
80,000 Rgaxd6m. P & L Appropriation A/c @@0)86)6.
The amount due to a partner on his retirement is Rs.500000. As per the

agreement he will be paid Rs.50000 in cash and the balance in equal annual

installments with interest at 10% prepare his loan A/c.

nilealen)m ae) ~DASIMBHs LIEleaNdMEs8 Od. 500000 @JAIOIEM. &EXD [AdIRo
@RWIBES 50,000 Blal AlEMAIWIe NG MRS 2)M MELYOHWISHSIW] 10% altil® ManlDo

MEISYMMI6M. ERWISIANS CRNAT ERENDETE MGINIS6NS:.

Answer any one question from 15 to 16. Carries 8 score.

Anu and Manu are equal partner's in a firm . There Balance sheet as on March

31st 2022 1s given below:

Balance sheet as on 31st March 2022

Liabilities Amount Assets Amount
Creditors 38000 Cash at Bank 14000
General Reserve | 40000 Stock 27000
Capitals: Sundry Debtors 20000
Anu - 50000 Furniture 33000
Manu - 50000 100000 | Machinery 84000
178000 178000

They agreed to admit Amala into the firm with 1/4 the share in future profits.

They decided to revalue their assets at the time of Admission.

Stock 1s to be revalued at Rs.35000/-

Furniture is to be depreciated by 10%

Machinery 1s to be revalued at Rs.100000/-

A provision for doubtful debts is to be created on debtors at 5%

Prepare Revaluation A/c, Partner's capital A/c and the new Balance sheet.

Roy and Rahim are Partner's sharing profits in the ratio of 3:2. There Balance

(8)
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sheet as on 1st March 2022 is given below:

Balance sheet as on 31.3. 2022

Liabilities Amount Assets Amount
Creditors 20000 Cash and Bank 20000
Capitals: Stock 16000
Roy 35000 Fixed Assets 42000
Rahim 23000
78000 178000

The firm was dissolved on March 31st 2022.

Prepare realisation a/c, capital a/c and Bank a/c based on the information

given below:

Stock realised at Rs.14000.

Fixed assets realised at Rs.50000

Realisation expenses Rs.1000

Creditors are paid in full.

Question 17 to 20. Answer any 3 question. Each question carries 1 score.

TVM is an example of

code.

a) Sequential code (b) Mnemonic code

(d) Block code (c) None of these

The intersection of row and column 1s

Which function is used to calculate EMI of loan

Expand the term FOSS

FOSS 6 a)30gD Gjnlo a1 93036

Answer the question no.21 which carries 2 mark.

Name the suitable data type

a) Name of an employee

(8)
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b) Date of birth of an employees

@pRMewIR2IW data type o) 6ale M}aililea).
o)) OMYIRNSIWIAS Call

énil) aaelenglanans can) @lal snBOT

Answer both the question no. 22 and 23. Each carries 3 scores.

Advantages of charts and graphs. Any three.
al@Sle) 2301 (1JEMEUBUB VYIS
Write the syntax of SLN and DB

SLN anéiegioni@ie DB an6ia200§®ie caim@imii@o af93m3e:.
Answer the question No.24, which carries 4 score.

Explain the features of CAS

CAS am mnilew.zmad nilneleais.

Answer any one question from 25 and 26 which carries 5 scores.

State the purpose for which the following functions in Libre Office cale

@I alOWIM aDEEHMISEINS DaleWIWo a9INIS.

(a) Now (b) Round (c) count (d) ACCRINT (e) NPV
State any five vouchers and its function keys under GNO khata

GNU khata oleel aemelene @eemi gld 66SA130, GROIONG MDaId &1W3e ) 9INE:.

4 1 F.-.'ll: " E i
Er{. [.-Il::‘v";L; {'!I ]: ) | L
I A s W
Lo g mgﬁanﬁim Cotygs M JH&T{ oo

‘1 1 ' I l": L "."l.llI .I-ij';{:f_
95 Ffakapplly

- F f
gy L%y TTH2 Kaveirmkals Ma ,_{‘-f,.:_.-'.-._-i Hao (e
i ncss

__,II £ & vl I'I ; SRS [ & "-*.-:" i" ,"_"'-.I- i ] . .f-
Neeho Joseph, Vimala Maks 3195, Kedaliead . T}qufw

5 P R . i
|r"-"|."_ n.'!:.'{dll‘-l':'? III':.I' J WM. M) r.lll""r'“":"ll";,?"luf':'f: E-. t '-HL

S M/ r:_‘ih.‘: Brzhy E;'—L

Havsha, VD P v



